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Instructian: First 15 minutes are allotted
for the candidates to read the
question paper.
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fuifta 3fe 3us amA ke 7o )
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i) WAt & wwifies s fetan
i) A g § T % w9
i
iv) o orEva® @, TR aeE
e
Note: i) All questions are compulsory.

Marks allotted to each question

are given in the margin.

iij Give relevant answers to the

questions. upboardonline.com

iii) In numerical questions, give all

the steps of calculation.

iv) Give chemical equations

wherever necessary.
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)

4
CH,COOH ¥ NaOH &I R

ST R

ij - 136 kcal/mol
i) - 136 kcal/mol ® 3 FUTHSH

iii) - 136 kcal/mol ¥ FH HUETH
iv) 3 & HIE 7= 1

¥) Us wollg foerga ® pH AW 3 E

FHH [OH 7] B

iy 107M

i) 1077

iii) 107

iv) 107% 1

"F) ﬂﬁﬂﬁaﬁ@ﬁwﬁﬂﬁqﬁaﬁam

217430
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1. There are four'altematives for each part
of this question. Select the correct

alternative and write it in the answer-

book :
a) Antipyreticis
i}  Penicillin

bj

217430

ii} Tetracycline
iii) Sulphadiazine

iv) Novalgin. 1

‘Bakelite is obtained from phenol by

reacting with
i} Acetaldehyde

i) Acetal

ili) Formaldehvde

iv) Chlorobezene 1
Heat of neutralisation of NaOH and
CH,COOH is

i) - 136 kcal/mol
i) more negative than
-13:6 kcal/mole
iii} less negative than
- 136 kcal/mol
iv] none of these. 1

[ Turn over

375(YI)

d)

e)
2. &)
217430

6.

The pH of an aqueous solution is 3.

Its [OH ] is
i) 107!
i) 1077
i) 107
iv) 10714 1

Glucose is converted into ethyl

alcohol in the presence of enzyme

i} Invertase

il}] Zymase

i1} Diastase

iv) all of these. 1

I Hiic H A9TEIT B ][I gRT

T |

b | —
+
B | —
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@) fr= afiel &1 ddogodiotodio T =
—

fefau : 1.1
2 2
) . NHaCHs O
CHz—CH—CH—C—H
CoHs

) CHy—CH—O—CH,
AN meﬁmmu 1
L) fofve = € 2 v ge e fafaw )

2. a) Explain zero order reaction with an

: 1 1
le. — 4=
example | 53

b) Write LUPA.C. names of the

following compounds : —;— +%
. NHy CHy O
CH4z—CH—CH—C—H
i) CoHg
CH;—CH—O—CH,
c) - Explain the first law of
thermodynamics. 1

d) What are lipids ? Write their main

functions. 1

217430 | Turn over
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3. %) oIS SgeRIHIUl & Uh IRV BRI
v
: 1 1
HHSARU | . 5%3

@) 400 K | afufrm
N, +3H,& 2NH, % fou

K, = 0-5 et 2 §iet® & @ K, % A
1 HifsT )
(femm &

R = 0-0821 litre atm degree ! mol ! )
1

A méﬁmlﬂaﬁﬁﬁﬁwwi%+%

A1) R glea garu fe e 9 sfvlea #@t
wife = g ?

2FeCl, + SnCl, —» SnCl, + 2FeCl,. 1

217430



3. a)

b)

c)

d)

4. )
—
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Explain addition polymerisation
1 1

- with an example. — =

2 2

The value of K for the reaction |
N, +3H,== 2NH, is 0-5 mol 2 it
at 400 K. Find the value of Kp.
(Given that upboardonline.com

R = 0:0821 litre atm degree 'mol ™" .)

1

Write two differences between starch
and sucrose —1- ¥ —1—
) 2 2

Explain with reasons, what will be
the order of reaction for the
following reaction :

2FeCl, + SnCl, » SnCl, +2FeCl,. 1

12 UM Tofhi 6l 100 TH ST H "ot
W faems &1 s@uHie 100-34°C 910
AT A % Hiee 39T feds s e

T | | 2
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3TET0T ERT FHEAI - 2

i) @ ISR T TR ISR

i) foger a1 sTEFRE TR

st g e A 3 P w

fre aftom fean

i) 0-125%%%@@@
0-10 T CO, Ve §a

iij 0185 @ 3 032 UM
AgBr &

FET T8 SHE I Hided 9= H e

#Ifu) [ Ag = 108, Br = 80, C = 12,

0=16] 1+ 1
e W dfa feoott fef -

iy Eow fram

i)  HUegHIR uimaAT) [+ 1



4. a}
b)
c)

217430
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An aqueous solution of glucose
containing 12 gm in 100 gm of

water was found to boil at 100-34 'C.
Calculate molal elevation constant
of water. 2
Explain with example : 2
i}  Autocatalysis or Enzyme
catalysis
ii) Tyndall effect or Brownian
movement.
An organic compound containing
bromine gave the following results :
1) 0-125 gm of the compound on
complete combustion gave
010 gm carbon dioxide.
i) 0185 gm of the compound gave
0-32 gm of AgBr.
Calculate the percentage of C
and Br in the given compound.
| Ag = 108, Br = 80, C = 12,
O=16] 1+ 1

[ Turn over
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d)

%)

o

/E)

A1
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Write short notes on the following :

i) Saytzeff's rule upboardonline.com

i) Sandmeyer's reaction. 1+1
e afufsmarett =t qut =it : ’
NH; Br, + KOH
i) CH3COOH—"»A —
HNO
B—3c 1

i) CH,NH, —A CH;0H—2»
CHal —<» CH,OH
forteet S FT & 2 WES! ]IV aUl e
1Y & WEART | 2
FE-2-F W W g fefEn W W
s @ e o s
HBr & ammees aifvfskar &1 FeeRor
it ) 2
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b)

c)
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S S SO S S
) cH= cu—2» B—2» CH,C00H
e

——> CH,CICOOH

CHy + CHg
5 &

Fol¥o >

Complete the following reactions :
NH; Br, + KOH

NGO,

NO3 1

i) CH3COOH > A >

A

HNO,,
B——2p 1

; A B
ii) CHSNHQ -—-h-CHgOH—F

CHyl —<» CH4OH 4

What is crystal defect ? Explain
Schottky defect and Frenkel defect.

2
Write the structural formula of
but-2-ene and show addition
reaction of HBr in presence and in

absence of peroxide. 2

[ Turn over
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d) Complete the following reactions :

) cH= cH—2» B—2» CH,COOH

£ s CH,CICOOH

CHj

) @Y

SRR TR g9 @ yERTen fafy @ aue

o

HITY FYT 3Tk 99 H,0 o 381 HI & 91

Afafsmar @1 wHishor forfa | P+ 1+1
arerat

o oW 2 ( Few UNEEE FHER

feiit@y )

i) ﬁﬁmaﬁé«—wﬁ?

) i e & o

iii) T Ceeleret W iR | 1+1+1

217430
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Describe the laboratory method for the
preparation of diethyl ether and write the
equation of its reaction with H,O and
cold HI. 1 + 1+1
OR ~
How will you obtain — (Give chemical
equations only ) ’
i) Benzene from Phenol ?
ii) Ethylamine from Methyl alcohol ?
iiijj Ethylene from Ethyl alcohol ?
' 1+1+1
vitg o faf g ofefes sner st =l fafy
=1 qiem ol Fifsg ) so% T afUer Teshigier
Y arfafsrar =1 gt fafEg ) 2+1
- :
A € v ( hael THEHE  FHEO

fefigy ) —
i)y wrifcgee & amitar & @ T T

AT & ?

217430 [ Turn over
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i) wRE @t fiew 9ot & oww afule

FAT A E ?

) wrReme, YW ReeE &AM

arfufspan T ® 2 1+1+1
Describe with diagram the quick vinegar
process for the preparation of acetic acid
and write the equation of its reaction
with ethyl alcohol. 2+1
OR
What happens when (Give chemical
equations only ) — |
i) Formaldehyde is heated with
ammonia ?
iij Acetone' reacts with bleaching
powder ?
ilij Formaldehyde reacts with Fehling's

solution ? 1+1+1

e
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